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FACULTY OF COMMERCE
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ACCOUNTING FOR MANAGERIAL DECISIONS

Paper-V
(Tuesday, 28-6-2022) Time : 9.30 a.m. to 1.15 p.m.
Time— 3.45 Hours Maximum Marks—T75
N.B. .— (@) Attempt all questions.

(i1) All questions carry equal marks.

(7it) Question No. 1 is compulsory.
() W& T Hean

(i) W& YA A O S

(i) 99 HUe 1 e e

1. You are given the following data for the year 2020 of the company : 15
T
Variable cost 3,00,000
Fixed cost 1,50,000
Net profit 50,000
Sales 5,00,000
Find out :

@) Marginal Cost Statement

(it)  Profit-Volume Ratio

(i11) ~ Break-even Point (Sales)

(v)  Profit, when sales amounted to T 6,00,000
(v) Required sales to earn a profit of ¥ 1,00,000.

P.T.O.
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TehT HY-T=E] a8 2020 AT STy T Jifedt 9oy el aTg
3
g AR 3,00,000
feer ufteqg 1,50,000
e T 50,000
fersnt 5,00,000
NIRIE
G  TomE it faeae
(1) AR[-3c4Td THIUT
(i) wA-Toesed fog (fast)
(v) %6,00,000 fIsht STHAETET THI
() ¥ 1,00,000 T AFAET IR
From the following data, calculate material variances : 15
Material Standard Actual
kgs. Rate (?) kgs. Rate (3)
X 8000 1.00 7500 1.50
Y 3000 2.00 3300 2.25
Z 2000 3.00 2400 2.50
AT A=A SR, sheal Hie FEom=! T 7
chedl AT HTHh T &Td
fordt TE) fertl TR

X 8000 1.00 7500 1.50
Y 3000 2.00 3300 2.25
Z 2000 3.00 2400 2.50
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Or
(Feram)
Bright Limited have prepared the budget for the production of 10,000 units of

product for a costing as under :

Per unit
(€9)
Raw Materials 10.00
Direct Labour 3.00
Direct Expenses 1.00
Works Overhead (60% Fixed) 10.00
Administrative Overheads (80% Fixed) 2.00
Sales Overhead 1.00

Actual production in the period was only 6000 units. Prepare budgets for the

original and revised level of output.

TS TG 914 10,000 7 ScATfEd hvaTdae ©e Weieryq o foa o1me ¢

et T
9]

FHedl 7 10.00
EREES 3.00
JaYg T 1.00
I T (60% feeR) 10.00
TTHRT T (80% TEeR) 2.00
faept @l 1.00

T FHTLTT TAETd Ha 6,000 7T SR STel. Hoo & YR Icared Taesiail SESTIeh
TIR .

P.T.O.
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A company has the following transactions at the given dates and price indices

for the first quarter of 2020 : 15
4 Price Index
Opening balance (Jan. 1) 6,000 100
Cash sales (Feb. 1) 17,500 105
Payment to creditors (March 1) 12,000 108
Cash Purchases (Mar 1.) 2,000 108
Payment of expenses (March 31) 2,000 110
Closing balance (March 31) 7,500 110

Calculate monetary gain or loss.

Tehl HUAIshe fodear arEg o feag fdens 2020 =1 99¥ AR FaeR
WATATHI SR

3 [ERRRRENIED
Rfy=h freetss (M. 1) 6,000 100
U@ fasht (Hel. 1) 17,500 105
U IH YEH (A 1) 12,000 108
g ©al (A 1) 2,000 108
@t e (ArE 31) 2,000 110
3w fereere (A= 31) 7,500 110
Hifeeh @ feha T IO B

Or
(fenam)

Using the following information, calculate the labour variances :
Direct wages % 3,000
Standard hours produced 1,600
Standard rate per hour : 71.50

Actual hours paid 1,500 hours, out of which hours not worked are 50.
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TITettet A AT, AS F=Rom= 0T S
EREEREE 33,000
IcaTied | 1,600
ek <X fd 9 21.50

Y& F A 1,500 Teh! 50 19 HTH STetedt T8I,

A company is expecting to have ¥ 25,000 cash in hand on 1st April, 2020 and it
requires you to prepare an estimate of cash position during the three months

April to June 2020.

The following information is supplied to you : 15
Month Sales Purchases Wages Expenses
3 3 3 3

February 70,000 40,000 8,000 6,000
March 80,000 50,000 8,000 7,000
April 92,000 52,000 9,000 7,000
May 1,00,000 60,000 10,000 8,000
June 1,20,000 55,000 12,000 9,000

Other Information :
(@)  Period of credit allowed by suppliers two months.

(b)  25% of sales in for cash and period of credit allowed to customers for credit
sale one month.
(¢) Delay in payment of wages and expenses—one month.
(d)  Income tax of T 25,000 is to be paid in June 2020.
ThT ST % 25,000 @ RTeeres 1 The, 2020 ST Afgett TR STHE 378 9 TUA o S
2020 1 <7 Afg=ar=ht e feerdl STHMA SATavehed gt STeedehal 37%.
P.T.O.
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ST WTeitet Hifed! JRaet 3T
AfET faent eRKy e RCE]

3 3 4 N

Thed 70,000 40,000 8,000 6,000
I 80,000 50,000 8,000 7,000
e 92,000 52,000 9,000 7,000
ki 1,00,000 60,000 10,000 8,000
il 1,20,000 55,000 12,000 9,000
T AT :

(@  JUEGRNIS S Afgd SHNT shiceraeil fae.
) fawi=n 25% @ fast eI Teh Afg-arehdl SHR fasi=t STHdT o172
() IS 9 @ A YA Tk HAfe foeear 8.
(d) IR 25,000 SF 2020 FEA A 3.
Or
(fenam)
The Bombay Radio Co. manufactured and sold 10,000 radios last year at a price

of ¥ 500 each. The cost structure per radio is as follows :

T
Material 100
Labour 50
Variable Overheads 25
Marginal Cost 175
Fixed Overheads 200
Total Cost 375
Profit 125
Sells Price 500
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Due to heavy competition prices have to reduced to ¥ 425 for the coming year.
Assuming no change in costs, state the number of radios that would have to be

sold at a new price to ensure the same amount of total profits as in the last year.

T afrsl sl HwUH 10,000 I3 Tt T 500 FRacdier wriiTe asit o AT e fasht
Hedl Bidl. Tdl Aesh ufiems GET ey o 378 ¢

4
[t 100
ESK 50
o5 T 25
Towma afiea 175
fer == 200
TR TR 375
ThT 125
IGEQRER:E 500

e oyeit TaEies foght fRdid ¥ 425 T2Id el d5al. Tl dgel BV A8l 379 e 96
HIATE eI JHT0] T SoA el fehHell THI0l ST TR T MHiHd o fagh! i Jgal.

5. Write short notes on (any ftwo) : 15
@) Role of Management Accounting
(@)  Inflation Accounting
(tit)  Types of budget
(fv)  Break-even Analysis.
fresRa feur faen (vrerdt I )
(i) A STl YfHeR]
(i) G e
(iii) ~ STCTSIIAHR YRR
(fv)  TA-Ta=ese fagerso.
NJ—01—2022 7

FOD8DB1D90209279E3BA C33F883CB4C2



